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QUESTION 1

When configuring the CE with the selected CE-PE routing protocol on an Alcatel-Lucent 7750 SR, which of the following
statements is true? (Choose three.)

.VRF Blue VRF Blue .
Provider Core Network

P.a PE-2

Red VRF Red m

4 El'VRF

PE-l1>config>servicef VPRN 20 customer 101 create
PE-1l>configrservice>VPENS description "VPRN Service"
PE-l>configrservice>VPRENS route-distinguisher 65100:101
PE-l»configrservice>VPENS vrf-target target:65100:101
FPE-l1>configrservice>VPENS auto-bind ldp
PE-1>configrservice>VPENS router-id 1.1.1.1
PE-l>configrservice>VPRNS exit

PE-l>config>service#

A. The protocol is configured under the config>service context

B. The protocol is configured under the global router context

C. The interface leading to the PE is defined as a protocol neighbor

D. The routing protocol used must be the same as the routing protocol used at other CE-PE locations in the same VPN.
E. A routing policy may or may not be required depending on the routing requirements and routing

protocol

Correct Answer: BCE

QUESTION 2

Click the exhibit.
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*A:PEZE show router bgp neighbor 10.10.10.1 recsived-roures vpn-iprd
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Which of the following best describes the output?

A. The AS-Path is not present because a policy is configured on PE2 to set it to null.

B. The AS-Path is not present because a policy is configured on CEL1 to set it to null.

C. The AS-Path is not present because a policy is configured on PEL1 to set it to null.

D. The AS-Path is not present because VPN-IPv4 routes do not propagate the IPv4 AS-Path BGP attribute.

Correct Answer: C

QUESTION 3

When would it be appropriate to use the as-override command?
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PE-1# show router 1 bgp neighbor

Peer : 10.16.1.2 Group EGP-nelighbors

Peer AS : 65200 Peer Port 3 48620

Pear RAddress S Rl

Local AS : 65100 Local Port 25

Local Rddress I § B T (R

Peer Type : External

Etate t Established Last State : Established
Local Family : Ipvd Eemote Family : IPvd

A. When sites of different VPRN customers use the same BGP AS number
B. When sites of the same VPRN customer use the same BGP AS number
C. When sites of different VPRN customers use different BGP AS numbers
D. When sites of the same VPRN customer use different BGP AS numbers
E. When the customer site AS number is the same as the provider AS number

Correct Answer: B

QUESTION 4

Which of the following about inter-AS model C VPRNSs is FALSE?

A. Within each AS, the ASBR advertises the system addresses of remote PE routers as labeled IPv4 routes.

B. PE routers in different ASs exchange VPRN routing information directly over MP-eBGP.

C. Within each AS, MP-iBGP sessions are established to exchange VPN-IPv4 prefixes between the PE routers.
D. ASBRs exchange the system addresses of PE routers as VPN-IPv4 routes over MP-eBGP.

Correct Answer: D

QUESTION 5

When using the AS-override method to prevent BGP loops in VPRNSs, where should the "as-override" CLI command be
configured?

A. On the PE facing the CE neighbor
B. On the CE facing the PE neighbor
C. On the P facing the PE neighbor

D. On the PE facing the PE neighbor
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Correct Answer: A
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